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PAAL

PACOMAT 11-35 C 11-50 C 11-65 C

a5 t (kN) 36 (356) 50 (486) 65 (633)

H = N/cm? 51 69 90

HY CHHA cm 100 x 70 100 x 70 100 x 70

=2 £+ cm 100 x 62 100 x 62 100 x 62
FE2UE HF m3(EHEh 0.9 0.9 0.9
ZA£210|0f £ H 4 4 4

DEHE kw 11 22 30 22 30 45 22 30 45
A= HIEZ (0|4 =) Z[O) m3/h 135 335 415 265 335 550 210 275 465
AEE HIEZ (B =) Z[O) m3/h 65 140 175 110 145 190 85 120 160
¢x 8 (BY)

(FU-Z 2ot &)

- 35 kg/m?, Of) %8k OCC t/h(CHER) 2.3 4.9 6.1 3.9 5.1 6.7 3.0 4.2 5.6
- 50 kg/m?, Of) mME BO|F t/h(Eh2hH 3.0 6.5 8.5 53 7.0 9.0 4.0 5.8 7.5
A=7| B (SN THRO Mt CHE) EE)) 8 8.5 9

74 (mm) A B C D E G H | K L M N (o) P R
PACOMAT 11-35 C | 6790 | 1749 | 4887 | 1000 | 2865 | 3365 | 3425 | 2687 | 297 | 700 | 3550 | 620 | 672 | 700 | 2689
PACOMAT 11-50 C | 6760 | 1850 | 4887 | 1000 | 2865 | 3365 | 3395 | 2687 | 297 | 700 | 3550 | 620 | 672 | 700 | 2689
PACOMAT 11-65 C | 7295 | 1850 | 4887 | 1000 | 3315 | 3815 | 3480 | 2687 | 297 | 700 | 3550 | 620 | 672 | 700 | 2689
PACOMAT 11-35 D 11-50 D 11-65 D

a5 t (kN) 36 (356) 50 (486) 65 (633)

H =3 N/cm? 51 69 90

Y CHHA cm 100 x 70 100 x 70 100 x 70

=2 £+ cm 100 x 62 100 x 62 100 x 62
SAE MY m3(thEh 0.9 0.9 0.9
A£210/0f £ Ui 4 4 4

ZEHE kw 15 22 15 22 37 45 22 37 45
AEE HIEZ (0|4 =) ZE|CH m3/h 450 450 352 352 509 509 280 413 413
AEE HIEY (£ £ ZE|CH m3/h 145 183 116 146 221 243 115 178 196
gx 8 (Y 6.4

(Ru-ZH(et o)

- 35 kg/m?, O)) H&tst oCcC t/h(CHER) 5.1 8.9 4.1 5.1 7.7 8.5 4.0 6.2 6.9
- 50 kg/m?, Of) Tt El BOIF t/h(CHEF) 7.2 5.6 7.0 10.6 11.6 5.6 8.5 9.4
A7 T (M FHo| met CHE) t(Ch2h 8 8.5 9

74 (mm) A B D E G H | K L N P R
PACOMAT 11-35 D 7251 1707 1050 2865 3390 3861 1725 310 1000 620 700 2892
PACOMAT 11-50 D 7215 | 1967 1050 2865 3390 3825 1725 310 1000 620 700 2892
PACOMAT 11-65 D 7825 | 1967 1050 3315 3840 3985 1725 310 1000 620 700 2892
PACOMAT 111-35 C 111-50 C 111-65 C 111-80 C
&=y t (kN) 36 (356) 50 (486) 65 (633) 82 (802)

H| =3 N/cm? 48 65 84 97

HE CHHE cm 75 x 100 75 x 100 75 x 100 75 x 100
2 FYF cm 100 x 92 120 x 92 140 x 92 160 x 102
FAU= HH m3(CHEh) 0.95 1.05 1.25 1.85
ZA£210/0f £ H 4 4 4 4




DEE kw 11 22 | 30 2 3 4 (22 |3 |45 |7 22 | 30 | 45 | 75
2 1 0|5 0 5

LEE HEY (0|4 =4) Z[t§ m3/h | 150 | 360 | 445 | 295| 370|615 |235|305|540|675| 215 | 280 | 520 | 670
LEE HEY B =) [t m3/h 70 | 140 | 185 | 125] 170|225|105[150|205|295| 100 | 140 | 200 | 300
¢x 8 (BY)
(FO|-SEHQF &)
- 35 kg/m?, Ofl) E&%8 OCC t/h(CHER 25149 |65 |44|60(79(37|53|72|10.135|49]|70 (105

3
- 50 kg/m?, Of) It2{E F0|F t/h(CHEf) 33165|88|58]|80(108{50(|7.0]98|14.148 | 65|95 [143

3
AH7| Y (M B0l @t o) t(CH2h 11 12 13 17
74 (mm) A B C D E G H I K L M N /o) P R
PACOMAT 11I-35 C 7540 | 1989 | 4637 | 1000 | 3475 | 3975 | 3565 | 2437 | 290 750 | 3300 | 920 | 822 | 1000 | 3085
PACOMAT 111-50 C 7762 | 1989 | 4657 | 1200 | 3475 | 4075 | 3687 | 2457 | 310 750 | 3300 | 920 | 822 | 1000 | 3085
PACOMAT I11-65 C 8699 1989 4657 1400 3720 4420 4279 2457 310 750 3300 920 822 1000 3085
PACOMAT 111-80 C 9290 2200 4697 1600 3870 4670 4620 2497 357 750 3350 1020 872 1100 3250
PACOMAT 111-50 D 111-65 D 111-80 D
Qrz=a t (kN) 50 (486) 65 (633) 82 (802)
H =3 N/cm? 59 77 97
Y CHHA cm 75 x 110 75 x 110 75 x 110
=2 £+ cm 125 x 102 145 x 102 160 x 102
FEAUE HF m3(CH2h) 1.55 1.75 1.85
Z£210]0] = Ul 4 4 4
DEg2 kW 15 | 22| 37 |45 | 15| 22/[37 | 45|55 |75 | 15 [22 | 37 | 45 | 55| 75 [2*37[2*45
Y=E HIEY (Ol =4) Z|CH m3/h [422 | 422|617 |617 | 339 339|505 | 50 (742 | 675 | 275|275 | 416|416 | 624 | 624|741 | 741

5
U=E HiEZ (Bt =H) Z|CH m3/h  [145| 180] 275|300 | 125| 155|235 | 26 |335|380| 105 | 130 | 205 | 205 | 295 | 335|365 |395
0

g= 82 (B
(FU-Z2HH| et #d)
- 35 kg/m3, Ol) &8 ocC t/h(CHEH) |51 | 63|96 [105] 44| 54|82 | 91(117]|133[37 |46 | 72|79 [103]11.7|12.8[13.8
- 50 kg/m? Of) oi =l FO|F t/h(Ci2h) |69 | 86|12.8|140| 59| 7.3|11.1|122[156(17.7| 5.1 | 63 | 9.8 [10.8[14.0|16.1|17.3|187
LEI Y (S8 FHO et OHE) t(CHEh 12 13 17
74 (mm) A B D E G H | K L N P R
PACOMAT IlI-50 D | 8712 | 2030 | 1250 | 3475 | 4100 | 4072 | 1475 | 310 | 750 | 1020 | 1100 | 3445
PACOMAT I1I-65 D | 8826 | 2030 | 1450 | 3720 | 4445 | 4381 | 1475 | 310 | 750 | 1020 | 1100 | 3445
PACOMAT 11I-80 D | 9410 | 2044 | 1600 | 3870 | 4740 | 4740 | 1515 | 350 | 750 | 1020 | 1100 | 3445
PACOMAT V-35C V-50 C V-65 C V-80 C
&=y t (kN) 36 (356) 50 (486) 65 (633) 82 (802)
H Y= N/cm? 48 65 84 97
B EoA cm 75 x 100 75 x 100 75 x 100 75 x 100
on 87 cm 100 x 92 120 x 92 140 x 92 160 x 102
EUE A m3(CH2h) 0.95 1.05 1.25 1.85
Z5210]0] = 7H 4 4 4 4
DEEY kW 11 22 30 | 22 30 45 |22 |30 |45 |75 | 22 30 | 45 75
A=E HIEY (0|4 =) Z[CH m/h 150 | 360 |[445| 295| 370 |615|235|305|540|675| 215 | 280 | 520 | 670




A= HIEZ (£ =) |t m3/h 70 140 | 185 | 125| 170 |225|105 (150 |205|295| 100 | 140 | 200 | 300
o 8 (Y

(RU-Z2H[Qt &)

- 35 kg/m?, Oll) EES ocC t/h(CHEh 2.5 49 | 65| 44| 60 |79(37|53[72]|103]35 |49 ]| 70105
- 50 kg/m?, Of)) I BO|F t/h(CHER 33 65 | 88| 58| 80 |10.8|50|7.0|98(143| 48 | 6.5 | 9.5 | 143
A7 B (4 FHO| met CHE) t(CHEhH 11 12 13 17

724 (mm) A B C D E G H | K L M N (o) P

PACOMAT V35 C 7755 1977 | 4677 | 1000 | 3475 | 3975 | 3780 | 2477 330 750 | 3350 920 822 1000

PACOMAT V-50 C 8177 1970 | 4697 | 1200 | 3475 | 4075 | 4075 | 2497 350 750 | 3350 920 822 1000

PACOMAT V-65 C 8914 1985 | 4697 | 1400 | 3720 | 4420 | 4420 | 2497 350 750 | 3350 920 822 1000

PACOMAT V-80 C 9505 2090 | 4767 | 1600 | 3870 | 4670 | 4835 | 2537 397 750 | 3390 | 1020 | 872 1100

PACOMAT V-50 D V65 D V-80 D

&=y t (kN) 50 (486) 65 (633) 82 (802)

H = N/cm? 59 77 97

EERERE cm 75 x 110 75 x 110 75 x 110

=2 £+ cm 125 x 102 145 x 102 160 x 102

FAd=E HF m3(CHEh) 1.55 1.75 1.85

Z420]0] = M 4 4 4

DESY kw 15 | 22| 37 [ 45 | 15| 22|37 | 45|55 |75 | 15 |22 | 37 | 45 | 55 | 75 |2*37|2%45
A= HIEZ (0|4 =) AT m3/h | 422 | 422|617 | 617 | 339| 339|505 | 505|742 | 675 | 275 | 275 | 416 | 416 | 624 | 624 | 741 | 741
A=E HIEE (B =) Et m3/h 145 | 180 | 275 | 300 | 125| 155|235 | 260|335 | 380 | 105 | 130 | 205 | 205 | 295 | 335 | 365 | 395
o 8 (Y

(Fo-Z2H[QF &)

- 35 kg/m?, O)) H&tst OCC t/h(CHEf) 51| 63|96 (105 44| 54|82 | 91|11.7]133]37 |46 | 72|79 [103|11.7|128]138
- 50 kg/m?, Of) Il Fo|F t/h(CHEF) 69 | 86|128(140| 59| 7.3 [11.1]122|156|177| 51 | 63 | 9.8 [10.8|140| 16.1|173 | 187
AEH7| B (4 FHO| M2t CHE) t(CHEh 12 13 17

74 (mm) A B D E G H | K L N P

PACOMAT V-50 D 8712 | 1915 | 1250 | 3475 | 4100 | 4112 | 1515 | 350 | 750 | 1020 | 1100

PACOMAT V-65 D 8826 | 1915 | 1450 | 3720 | 4445 | 4421 | 1515 | 350 | 750 | 1020 | 1100

PACOMAT V-80 D 9410 1915 1600 | 3870 | 4740 | 4780 | 1555 350 750 | 1020 | 1100




